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NAME SoLLTIONGS

STUDENT ID #

RECITATION INSTRUCTOR

RECITATION TIME

LECTURER

INSTRUCTIONS

1. There are 9 different test pages (including this cover page). Make sure you have a
complete test.

2. Fill in the above items in print. I.D.# is your 9 digit ID (probably your social security
number). Also write your name at the top of pages 2-9.

3. Do any necessary work for each problem on the space provided or on the back of the
pages of this test booklet. Circle your answers in this test booklet.

1=

. No books, notes or calculators may be used on this exam.

(4]

. Each problem is worth 8 points. The maximum possible score is 200 points.

[«

. Using a #2 pencil, fill in each of the following items on your answer sheet:

(a) On the top left side, write your name (last name, first name), and fill in the little
circles.

(b) On the bottom left side, under SECTION, write in your division and section
number and fill in the little circles. (For example, for division 9 section 1, write
0901. For example, for division 38 section 2, write 3802).

(c) On the bottom, under STUDENT IDENTIFICATION NUMBER, write in your
student ID number, and fill in the little circles.

(d) Using a #2 pencil, put your answers to questions 1-25 on your answer sheet by
filling in the circle of the letter of your response. Double check that you have filled
in the circles you intended. If more than one circle is filled in for any question,
your response will be considered incorrect. Use a #2 pencil.

7. After you have finished the exam, hand in your answer sheet and your test booklet to
your recitation instructor.
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2

-z—6 i v (x-3) (x+2)

1. lim —Y2—-3 il <=3 A. Does not exist
= lim (x+2)=5 ®s
X — 3 C. 3
D. 1
E. 0

2. The domain of f(z)=+/1-In(2—-1zx) is

o (2-%) © Aﬁ/iwc,l Fv 2-x>0 = W A <2
Vi - Lme-x) » drfared fox B. -2<z<2
1—Q/~1(‘2.~><)>O C. 2<z
J@/W@ - =4 D. 2—-e<z

-x £ ¢ —)‘..%:E',<x[ @2—e<x<2
Z-e< x<2
3. If f(z) = |z|, choose the correct statement.

@ f is continuous but not differentiable at z = 0
B. f is differentiable but not continuous at z =0
C. f is differentiable and continuous at £ =0

D. f is continuous but not differentiable at z = 1
E

. [ is differentiable but not continuous at r = —1

4. Assume that y is defined implicitly as a differentiable function of z by the equation
d
z3 - z?y+y*="7. Find %Y at (z,y) = (1,2).

dz
'3)(1-XQA,’_‘1 — 2% +3~a‘23;_"5. =0 ® %
B. 3
At = . - ‘34—‘&;‘_9_ =0 7
(%9)=(12): 31 Lﬁi-zlz*» =3 .
11 a;ﬂ; D. 3

A_ﬂ_____

dx 11
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5. The equation 23 + 10z + 1 = 0 has a root in the interval

. LQT §(7‘7 - X +\OX+L aMAL u%\lth:.nmt?:Lh:i&CM é E—f,o—)l)

£63) = -27-30+1 =~ C. (0,1)
oy = 1 >0 .. vesh v (2)0) E. (2,3)
6. The equation of the tangent line to the graph of y = sin‘1(2:v) at the point where
T = % is
dx = 3 4 43
1 —(2%) 0 .
1
At x=L: dy_ =G Y=BTTE 2B
4 dx t-2% 4 1

Q,()LLOCLOM o .L:'Memt L D y=z+%—%
)
W4—d = 4 [« - L
é ¢ \6( E y=\/§z+———\/—§
O '\é: 4 v + I8 -—L— 3 4
NS 3 =
7. fx)=z+ - ! , then lim ————7"- (x) (2) jc ( )
s bOan
/ g L b‘b def A 3
§0)=1 - B 3
’ | 3 C. %
()=t ~ 5 =1
£ (=) 4 T f @3
Q,{ Eox) - {4y E. Does not exist
24 - W

—
-

2
X — 2 X~ 7 4
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8. i (xzes‘“(3z)) = x*e mg(’sx) 3
-dz 3N (2y¥)
+2x€

Page 4/9

A. 3xzesin(3z) +2$esin(3a:)

B. z2e%7(32) cos(3z)+3z2e8in(32)
C. z2e50(32) 4 23¢%17(32) ¢og(3z)
@ 322 cos(3z)esin(32) 4 2gesin(32)

E. z2etin(3z) +2mesin(3z)

9. The position of a particle is given by the equation s(t) = 3t2 + e€* + cos(wt). The

acceleration of the particle at t = 1 is

‘U(‘t)" dg(f) - 6t +—Q€ __’T\'SmﬁTt) A 4+e?—7?
B. 6+2e%+7
#) = ¢ +4.e C 1 %as ()
a(i‘) ’ﬂ C. 14+e?—dn
af) =G +4€ T :"5” D. 3+4e?+n?
2
—6t+4e +T ® 6+4e? +?

10. The lamp of a street light is 30 ft above ground. A man 6 ft tall walks towards the
street light. If the length of the man’s shadow is decreasing at the rate of 2 ft/sec,

how fast is he walking?

B.
30 ©
6 D.
E
| | T
DA — S _3& |
S.J"L_i - -2
ox
r
% = a %
& =0
30&3 - &YX + 6\%
‘ X = 4%

(x  _ 3 ~ 2
do - % =4(-2)

@ 8 ft/sec

2 ft/sec

. # ft/sec

5 ft/sec

. 3 ft/sec
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11. The linear approximation of f(z) = vz +1ata=3is

~ip 1

g—(x) o :}(3) +_§'(3)(x—3)) A. Vz+1= 5z - 3, for z near 3

Jov X weav 2 B. Vz+1Ixjz+3,forznear3

EG) 9 @\/x+1z%x+%,fora:near3

&/(x;’ 1 D. vz +1= z+ %, for z near 3

T 2Vt E. Vz+1m~1z—1 for z near3
/ A
') = =
4

Coam & F (x=3) , fov x waone 2

12. The absolute minimum value of f(z) = 3z2 — 12z + 5 on the interval [0, 3] is

()= 6x —12 AT

/ - ‘ -2)=0 =2 cvitieald =7
("(x)=0 G(x 2) —_ X (0 -

(=5 | D. 5
g(l) -34 - 24 +5 == é—-O.L'>.VNW.VduL E. 3

(g) =2-9 —12:3+5 =~#%

13. For what value(s) of z does f(z) = e? have a local maximum !

g/(x)‘_ ch"ex

2 A z=0
* - B.z=1
{exy=q » £ (x-1) _g 2
x* C. z=2
=i Ut Ghﬂ,:} C:iiu;nwiﬁ D z=1
§/(7<> <0 VLOV x <1 @ There is no local maximum

(>0 for x>1
Sk =e v lacak warm i wa

Thene v ¥ Dok ran fomave
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14. Find all intervals on which the graph of

. m
f(z) =cosz —sinz, —3 <z< %

is concave down. R
1, n N ¢ w ( 2’4)

£(x) = -sinx - e k)

g//(,() - — Qs -\-">inx B. (Z’E)

7 _ . ) - t = _Zl'_ _I E zr—
£70y=0  sinx =X > ::):-1 C. ( i 4),(4,2)
g’/()() <0 ‘Q\( _.—T’lz"< X £ I.:-_ €_4' D. (_%, %)

_Ix

§70>0 dor Z<xcx L E. (-%,1)

T Oy E down 0 (-2,7)
15. lim (1—;> = (i Qx (‘-J’;): e@_@w\}(ﬁm(l-{;)] A1

Z—00
X — 00

\ A\t Lo /L .
Qj'\m E L"(i'%?)}" (v ___lM(i x):um L,,L(x B. e

o ) 1
X —5<0 = Q X XS e @3
X—0 \’-’;; )
X
,Qjm (l-l) P | E. —e
| X =00 | X -€

16. A crate with square base and open top must have a volume of 4 cubic meters. Find
the height of the crate that has the smallest possible surface area.

S VOQMM - 4— A  h=2
| | }h x*h =4 h=1
/ﬂ B ‘ S\m}a b osrea . C. h=4
SO X A-x* +4—xl/\, D. h=3
a E. h=1
A= x+axt '
~ R
A = Xi-}— le
%
2
2R ex - K =50
X
. Z 2. -0 — T2
ah =0 1 = (x g) =
&% X 4 A x> O RS
4.& <0 )Lor X <2 M70 ‘ZJOY
X

=2 — \r.:..“'/:i
X 7
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17. Find f(z) if f"(z) = €® —sinz, and f(0) = 1, f(0) = —1.
'g,/(x): ex + COexX + Ci @ flz)=e®+sinc—z—2
X=0 ! 1 =14 4 1+C1 ""Ci':—1 B. f(z)=e€*+sinz+z-2
/ C. =e® —sinz — 2
U0 = €X+wsx—1’ f(z) =e® —sinz
< _ C D. f(z) =€*+cosz—3
£0) =" xstmx =X + Lo B
x=0' -L=414 4+ 0 -0 +C;5C=-2
S'CX) ceX4Shx -x -2

. f(z)=€*+cosz—z

d % .0 3(29°
18. a;;./: e’ dt = é? . ;Z

12 x*
-2 e X

32

>
®

266:1:2

12232

Qv
v}

623

O
®

—e
1222

®

i
19 /* de=f"f('wsx — sec'x) dux
i 0

cos?z o -

=(ix tar) | s i

:<%—i) “(0'0) c. -1-%
@ -1
E. 1+
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1
20. Find the area of the region between the graph of y = poy g and the z-axis fromz = e

to z = e2.
2.
e 2 Z A e—-1
A_: 1 o\'x :{ -d-d,u. :anul B. (In2)+1
e Xim> * U2 —nd
g =Wnx duz= L dx = - ©ln2
X=g uzi * = lm2 D. In(2 +e)
X =% u:_QnE(L:Z E. ln(e —e)
1, 2 1
dx J bocient -2 _'3 _
bt [ g | b Dz s
W= x+! din=dx - ~ 8
¥ = u-l 1
¥X=0 —su =l B. 2
Kz} — uz? C 3
( -l LL__)/';‘ 8
e (.
mam— m—— — —— 1
-1 -2 /1, @ 3
= (-4 4 “ g 1
( W 2U.z)l| "4
Fi e
= + - [ 2N\
2 8) ( I+ Z =g
T T
— =7 2
22/%‘n Zdz }(“ A :-“a—/":l
o 1+z 0 4 Iy 2
! s
w= b x Ay L dae A
1+ 3!

(]

’.f
|
c

o
®
)3

[

I o]

=
E
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23. A radioactive substance loses Z of its mass in 30 days. Its half-life (in days) is

, kt
¥(t) = )((096 (o)=L @ A 15
t=30 i k 3Q g 30ln2
- 5 5 = {ef e o
= 3 S c.
. ALK
t §(’c) = )(/O)Q 0 C D. 30—
? _ T
LSRR Y49 - L §6) 2, E. -30.8
PG € 30
tw'%zma t. 30 b2
~Am2 = - 20 t— (= {n®
24. The focus of the parabola
y?—2y—8z—23=0
A. (-1,-3)
B. (1,-1)
© (-1,
D. (3,1)
E. (1,2)

25. Find an equation for the hyperbola with vertices at (4,0) and (—4,0) and a focus at

(—9,0).

*) A DYy
16 25

Eo w \/E\'I‘iv,r V.extex 22 y2
P . y - B. —-ZL =1

— - 7y X .

F 9..0) (~4,0) ﬁmm ,0) 65; 82
A ap—t

: C 81 16

=4 2 2
C=9 o o D. —-2_=1

= Zofia 2 R\-16 16

ot+bi= C b=c m'@GS 22 o2 .
2z . - 16~ 65

.S oo



